Chiffres Romains (D)

Faites la conversion entre les numéraux arabes et romains ci-dessous.

DCX = 610 CDII =
DCCLXI = DCLXXXVI =
CCXCVI = CXCIV =

CCLXXIX = DCCXLIII =
CCCLVI = CMLXXXIV =

DX = 510 = 426
— 666 = 775
= 684 = 326
= 707 = 563
= 775 = 697
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Chiffres Romains (D) Solutions

Faites la conversion entre les numéraux arabes et romains ci-dessous.

DCX

DCCLXI

CCXCVI

CCLXXIX

CCCLVI

DX

DCLXVI

DCLXXXIV

DCCVII

DCCLXXV

761

296

510

666

684

707

775

610

279

356

CDII

DCLXXXVI

CXCIV

DCCXLIII

CMLXXXIV

CDXXVI

DCCLXXV

CCCXXVI

DLXIII

DCXCVII

402

686

194

743

984

426

775

326

563

697
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